



**Vendor Ranking** 

Page 1 of 1

 Letting:
 03200409
 April 09, 2020 2:00 PM
 Call Order: 010
 Contract:
 E3T80

 District:
 District 3
 Counties:
 LEON
 Fed Aid No:
 N/A

Contract Time: 120 CALENDAR DAYS

Project(s): 42215127230 (\*)

Contract Desc: MIDWAY MAINTENANCE - OVERHEAD SIGN PANELS

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	Responsive	Winning bid	\$509,850.00	100.00%
2	EMERALD COAST STRIPING, LLC.	Responsive	Non-Winning Bid	\$590,050.00	115.73%
3	CHINCHOR ELECTRIC INC.	Responsive	Non-Winning Bid	\$766,152.28	150.27%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





#### **Tabulation of Bids**

Page 1 of 4

 Letting:
 03200409
 April 09, 2020
 Call Order:
 010
 Contract:
 E3T80

 District:
 District 3
 Counties:
 LEON
 Fed Aid No:
 N/A

Contract Time: 120 CALENDAR DAYS Project(s): 42215127230 (\*)

Contract Descr: MIDWAY MAINTENANCE - OVERHEAD SIGN PANELS

The work under this Site-Specific Contract includes the removal and replacement of identified Overhead Lighted Guide Sign Panels to include supplemental panels in Leon County as listed in the Appendices, as well as supplying all associated attachment hardware and incidentals (new components). Other work associated with this contract consists of the removal and proper disposal of all existing sign luminaires to include all brackets, wire conduit, and other associated hardware. As a complimentary effort required contract work will also include identifying the electrical power load center supplying power to each overhead sign structure, determining the safest point of disconnect that would eliminate voltage to the old sign structure wiring without impacting the operations of other existing overhead luminaires and/or high mast lighting, and proper electric termination of any wiring that is disconnected so as to ensure safety and compliance with the National Electrical Code. Nomenclature utilized on all new Guide Sign Panels shall match that of existing signs that are being replaced. All work is to be performed at night. Mobilization and Maintenance of Traffic including Traffic Control Officers will be incidental to the other items of the Bid Proposal.

Experience in Overhead Signs form number 850-070-03 is required to be submitted with the bid documents.

Line No / Item ID Altern Item Description	ate Quantity Units	(1) ACME BAR	RICADES LC	(2) EMERAI STRIPIN		(3) CHINCHOR	ELECTRIC INC.
( ) indicates item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SIGNS (GROUND SIGNS OVER 30 SQ FT)(UN							
0005 0700 3201 SIGN PANEL, FURNISH & INSTAI OVERHEAD MOUNT, UP TO 12 S		225.00000	1,350.00	550.00000	3,300.00	1,651.51000	9,909.06
0010 0700 3203 SIGN PANEL, FURNISH & INSTAI OVERHEAD MOUNT, 21-30 SF	16.000 LL EA	500.00000	8,000.00	1,500.00000	24,000.00	1,401.78000	22,428.48
0015 0700 3205 SIGN PANEL, FURNISH & INSTAI OVERHEAD MOUNT, 51-100 SF	15.000 LL EA	2,500.00000	37,500.00	3,200.00000	48,000.00	5,902.79000	88,541.85
0020 0700 3206 SIGN PANEL, FURNISH & INSTAI OVERHEAD MOUNT, 101-200 SF	20.000 L EA	5,000.00000	100,000.00	5,000.00000	100,000.00	7,853.40000	157,068.00



Page 2 of 4

# Florida Department of Transportation



## **Tabulation of Bids**

Letting	g: 03200409	April 09, 2020	Cal	II Order: 010		Contract:	E3T80	
	No / Item ID Alternat Description	e Quantity Units	(1) ACME BAR	RRICADES LC	(2) EMERAI STRIPIN		(3) CHINCHOR	ELECTRIC INC.
() indi	licates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(SIGNS (GROU	IND SIGNS OVER	30 SQ FT)(UN				
	0700 3207 ANEL, FURNISH & INSTALL EAD MOUNT, 201-300 SF	15.000 EA	7,500.00000	112,500.00	7,200.00000	108,000.00	10,316.15000	154,742.25
	0700 3208 ANEL, FURNISH & INSTALL EAD MOUNT, 301-400 SF	11.000 EA	10,000.00000	110,000.00	9,600.00000	105,600.00	12,818.77000	141,006.47
	0700 3209 ANEL, FURNISH & INSTALL EAD MOUNT, 401-500 SF	3.000 EA	13,000.00000	39,000.00	10,750.00000	32,250.00	17,573.88000	52,721.64
0040 SIGN PA WITH LIC	0700 3624 ANEL, REMOVE, UP TO 50 GHTING	22.000 SF EA	500.00000	11,000.00	1,900.00000	41,800.00	584.97000	12,869.34
0045 SIGN PA LIGHTIN	0700 3625 ANEL, REMOVE, 51-100 SF IG	15.000 WITH EA	1,400.00000	21,000.00	1,900.00000	28,500.00	1,911.33000	28,669.95
0050 SIGN PA WITH LIG	0700 3626 ANEL, REMOVE, 101-200 SI GHTING	20.000 F EA	1,400.00000	28,000.00	1,900.00000	38,000.00	1,802.37000	36,047.40
	0700 3627 ANEL, REMOVE PANEL, 20 <sup>.</sup> H LIGHTING	15.000 1-300 EA	1,400.00000	21,000.00	2,000.00000	30,000.00	1,911.33000	28,669.95
	0700 3628 ANEL, REMOVE PANEL, 30 <sup>.</sup> H LIGHTING	11.000 1-400 EA	1,400.00000	15,400.00	2,100.00000	23,100.00	2,060.14000	22,661.54
	0700 3629 ANEL, REMOVE PANEL, 40 <sup>.</sup> H LIGHTING	3.000 1-500 EA	1,700.00000	5,100.00	2,500.00000	7,500.00	3,605.45000	10,816.35



04/30/2020

**Tabulation of Bids** 

Page 3 of 4

Letting:	03200409	April 09, 2020	Call Order: 010			Contract:	E3T80	
Line No / Ite		ate Quantity Units	(1) ACME BARRICADES LC		(2) EMERALD COAST STRIPING, LLC.		(3) CHINCHOR ELECTRIC INC.	
() indicates ite	em is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
0001 SIGNS	SECTION: 0001 (SIGNS (GROU 0001 SIGNS (GROUND SIGNS Section Totals: OVER 30 SQ FT)(UN)			ND SIGNS OVER 30 SQ FT)(UN \$509,850.00		\$590,050.00		\$766,152.28
	Contract	Grand Totals:		\$509,850.00		\$590,050.00		766,152.28



04/30/2020

#### **Tabulation of Bids**

Page 4 of 4

**Letting:** 03200409 April 09, 2020

Call Order: 010

Contract:

E3T80

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.